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A QIS AL
M ABIHAMHA B
ool g MHIA XA (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SEENCFEPEEENCES ==
1,200,000 1,200
ORIFET HAERHENA A4
200,000 x2H x 13| 400
SoIALZI| 22| 20,615 23,080 A2,465
201 £B-2d| 20,615 23,080 A2,465
01 At 22l 3,360 3,360 0
Ofelgragzgl 2el 3,360,000& 3,360
02 2=22Z 4l 17,255 19,720 A2,465
ORQpIALZI SANE=
24,650,000& *7%*10CH 17,255
AR H&HZH XI& 50,740 47,740 3,000
= 10,000
e 40,740
101 @124 dl 33,000 33,000 0
= 6,500
= 26,500
03 RIAHAZZ2TE = 33,000 33,000 0
OZHIEx= A 33,000
—AYs dREX RY 33,000,000& 33,000
= 6,500
= 26,500
201 LB-2E| 14,240 11,240 3,000
= 2,500
s 11,740
01 At 2t 2l 8,520 8,520 0
OZHIEx= At 8,520
— EAHHHME 1,500& *2,00004 23] 6,000
= 1,000
i 5,000
—0EEL 2F =26 8,000 *3Y 105 2,520
= 500
[ia 2,020
02 =224l 5,720 2,720 3,000
O=HIEXZ AL 5,720
— ARSI Btg 2 S LS
5,720,000& 5,720
= 1,000
e 4,720
202 Oddl 3,500 3,500 0
= 1,000
= 2,500
01 = LHA YI 3,500 3,500 0
OIHIEx= At 3,500
— gz 22 =4 3,500,000 3,500




AN UASAHD
M ABIHAMHA B
CR: DIRAMEA K& (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,000
s 2,500
S8 EXlZel 765,443 1,196,044 A 430,601
= 207,083
< 27,300
s 531,060
NHEQA NMHIA S 55,040 116, 146 A61,106
ANEQHA HHIA M2 55,040 91,524 A 36,484
201 Let24d] 24,240 25,044 A 804
01 At 22l 17,160 17,040 120
Oget==EH| 13,960,000 13,960
O=gtl 3,200,000& 3,200
02 =24l 7,080 8,004 A924
OEXNEAEHZE SIES &8  2702+8,000A 2,160
ORSMHBHILZNLY SX22
410,000& x 123l 4,920
202 O4dl 10,800 6,480 4,320
01 = LH 4 bl 10,800 6,480 4,320
OXNHQA XS HR=& 10,800,000 10,800
207 RO 20,000 20,000 0
02 & AR I 20,000 20,000 0
OXNE=2 M Haitst 20,000,000& 20,000
M=AXAH &E 65,229 72,669 AT,440
S2H=A FUIAY 65,229 72,669 AT,440
201 et 9,400 16,900 A7,500
01 At 2teltl 9,400 9,400 0
Oget=&H| 7,580,000 7,580
O%3s 29 =4 1,820,000& 1,820
308 XtXIEHH SOl A 15,829 15,769 60
10 S 2SO0l CHet 3 & & 2 E A I 15,829 15,769 60
O2N=2FEAAE mX &2 13,168,000 13,168
OE2g=A JI2&k sl 2,661,000& 2,661
401 A& HIZ 2018 40,000 40,000 0
01 A& HI 39,568 40,000 ANA432
O F=A HUHAIEZEE EX & FX 2l
39,568, 000& 39,568
03 A& S THHI 432 0 432
T2 HHAIEE EX & |X 2
40,000, 000% *1.08/100 432
detst AARISE 2l 161,500 161,540 A 40




SN RAZAD
M. g8 EXH2
Crel: maEs NNZE B (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
EX0ls 22l 161,500 161,540 AN40
201 Bt H | 27,860 27,900 N40
01 AP 22l Yl 26,620 26,300 320
Odetg2H| 12,380,000& 12,380
OXNEINEE 22l =2 10,000, 000& 10,000
Ofds 289 =¢ 70,000& x6H x4 3] 1,680
OZ2 &l 8,000& x4 80 2,560
02 35294l 1,240 1,600 A 360
OVRS RTK S8 22 20,000& x12& 240
O=&&H sA22yl 500,000& *23| 1,000
202 04| 8,640 8,640 0
01 2LHOHI 8,640 8,640 0
OEXOSAE LRFX 8,640,000 8,640
401 Al B 20 HI 125,000 125,000 0
01 A& HI 124,100 124,100 0
OXNEAOT HAHAHHIAIY 124,100, 000& 124,100
03 Al& 20l 900 900 0
OXNAAOE HAHAEHH ALY
125,000,000 *0.72/100 900
NEHEAL F=& 99,163 206,595 N 107,432
= 11,700
& 1,300
= 86,163
NEHZAANE 2SS 30,663 81,995 AN51,332
201 et A | 24,183 26,355 N2, 172
01 AFR2t2l Yl 22,060 23,460 A 1,400
OgBt=gH| 18,600,000& 18,600
Ofds 2829 =¢ 1,540,000& 1,540
OZ2&H| 1,920,000& 1,920
02 332494l 2,123 2,895 NTT2
OXNEMEA AR X SX 1,930&*1108 *103] 2,123
202 (4] 6,480 8,640 N2,160
01 2L Y] 6,480 8,640 AN2,160
OXNEMEA SR 6,480,000 6,480
NETHEAAMY =& 68,500 49,000 19,500
= 11,700
& 1,300
= 55,500
401 Al HI L 2 0HHI 68,500 0 68,500
= 11,700
& 1,300
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el XNEHEZAL = (9 ® =)
(o
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o 55,500
01 A& HI 68,014 0 68,014
O=HIEX ALY 13,000
— XNETHZA S| 13,000, 000& 13,000
= 11,700
< 1,300
OXNEMZAL =82 44,514,000 44,514
OXNETHEAL 2Bt 2
37,500 = 140E! K| 23] 10,500
03 Al S THHI 486 0 486
ONEMEZAL =83 45,000,000& *1.08/100 486
SUHEEHMA =E 225,063 523,410 N 298,347
= 130,000
< 26,000
[ia 69,063
NGtAIE S d gtsl 2 X 218,563 302,160 A 83,597
= 130,000
< 26,000
s 62,563
T AIEHI R0 218,563 302,160 A 83,597
= 130,000
< 26,000
s 62,563
01 A& HI 217,000 300,000 A 83,000
OZHIE= A 217,000
— KGtAIE =S d4tsHALY 217,000,000 217,000
= 130,000
< 26,000
s 61,000
03 AIE 2 THHI 1,563 2,160 AB97
OZHIEx= A 1,563
— XNotAIEE Ha&tsALY
217,000,000% «0.72/100 1,563
SUATEAIAE 22| 6,500 0 6,500
201 L2l 6,500 0 6,500
02 =224l 6,500 0 6,500
OINSUEESEAMAE S/WKRINES
6,500,000& 6,500
HESAIXIE 2el 159,448 115,684 43,764
= 65,383
s 94,065
IHE BAIRIOb ZARSE 94,065 115,684 A21,619
201 ¢er24| 86,585 78,223 8,362
01 At 22l 86,085 77,723 8,362




SN DRZAD
= 0l

HM:. g2HA E Xl 22
S JHE Z2AIXIJF 22l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ogbt424| 11,170,000 11,170
OMNEZAIXI 2SE =8 S 72,995,000 72,995
O=3&H| 1,920,000 1,920
02 232 H4| 500 500 0
OMEZAIXIF LEE &5 500, 000& 500
202 044l 6,480 8,640 A2,160
01 2L I 6,480 8,640 N2,160
OMNEZAIXI 2 6,480,000 6,480
301 et A= 1,000 1,500 A500
11 JIEtE A= 1,000 1,000 0
OFRSAMSIHERAL AlDX ZAZ
500,000& x224 1,000
HEZAXIIL A 65,383 0 65.383
= 65,383
201 LBt ]| 60,383 0 60,383
= 60,383
01 AP 22| H| 60,383 0 60,383
O2HIExZAY 60,383
—HEZAXI S =42 55,883,000 55,883
= 55,883
— =&l 4,500
= 4,500
202 044 5,000 0 5,000
= 5,000
01 2Ll 5,000 0 5,000
OZHIEXZANY 5,000
—HESAXI GRF4& 5,000,000 5,000
= 5,000
HESHAY (VRS AID) 29,620 29,620 0
o=l 29,620 29,620 0
Jl2&H| 29,620 29,620 0
201 &Bt24Ay| 12,220 12,220 0
01 AP 22| H| 12,220 12,220 0
Ogbt424| 12,220,000 12,220
202 044 13,200 13,200 0
01 2Ll 13,200 13,200 0
OBNEI (A, MOILH, 38 &4 )
13,200,000 13,200
203 22 =X b 4,200 4,200 0
04 EASHEIR2FAH| 4,200 4,200 0
OFRNMSIERFEH| 4,200,000 4,200
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